Nasobeni a d&leni 10, 100, 1000
(oD 49 = 6O
240 fo00= 240 000
Ghomg: 48 = 61060



Dopln jednu carku, at ma rovnice smysl.

H 15 +5=550



Nasobeni a déleni 20, 500, 4000...

IR b= 20:4=5

2y = M4

20+ H0= MO ()  +vorisn Jul
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90 - 20 = Z¢ 00
30-70=2100
40 - 40 =1 &0
60 - 10=pHV
50 - 30 = /200
20-80="7520
900-90=K17®
60 - 30 =18 00
107520750
70 - 80 = 56O
20-20=40 0
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200 - 3= 400

4-600 =742

7-100="700

200-4= 900

900 - 6 = 540

7-200= %00

100 - 1=_76°0

0-500=/

300 6= 1400

400 - 3=_72.00
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8000 5= OXD

7 -2000 = AP

4 -1000=400

7000 5= 39000

6-6000= 56 OO

3000-6=4& OCO

4000-7= 28 O

5-9000= 45 090

1000-6= 0 0D

9000-2= /I8 000
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22 -
50=_2050
15 -
40=2_09()
25 -
70 -
12 -
36 -
17 -
- 40 =69

41

51

19

20=_200

30=_ (6D

30= 47(

10= .50

1= 7720

50= /O

= ] 2)(00

20 4790
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5.20=_ /00
400-6= 24t
6-4000= 2% 000
100 - 80=_&000
300-4= /10.00
9-1000= Y 000
20000 -3= 60 000
9-800= FL00
500 -30=_45000
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